MIAMI-DADE COUNTY, FLORIDA

MIAMI-DADE _ METRO-DADE FLAGLER BUILDING

COUNTY

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMIL, FLORIDA 33130-1563
(305)375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov

U.S. Fence, Inc.

7830 Freeway Circle

Middleburg Heights, OH 44130

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: “ Homestyle 8’ x 10’ ” Outdoor Plastic Storage Sheds
APPROVAL DOCUMENT: Drawing No. 528-004, titled “ Homestyles 8’ x 10’ Outdoor Storage Shed ”, sheets
1 through 16 of 16, dated 11/25/2008, last revision #1 dated 03/24/09, prepared by Fred S. Cardwell, P.E.,P.L.S.,

signed and sealed by Fred S. Cardwell, P.E., bearing the Miami-Dade County Product Control Approval stamp with
the Notice of Acceptance number and the approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: None

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors

and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1, evidence submitted page E-1 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E. M.S.

NOA No. 08-1212.02
MIAMIDADE COUNTY Expiration Date: 05/13/2014

APPROVED 05 / /3 / 2004 Approval Date: 05/13/2009
Page1l



U4S. FENCE, INC.

1620 FREEWNAY CIRCLE
MIDDLEBURG HEIGHTS, OH 44120

TYPICAL

@ A

WIND | OAD COMPONENT AND CLADDING

GROSS UPLIFT DIAGRAM

ol

I
I
|
_\L o

WIND L OAD COMPONENT AND CLADDIN

NALL PRESSURE DIAGRAM

7 )
MASTER PLANS
HOMESTYLES &' x |10
OUTDOOR STORAGE SHED
\! )
SHEET INDEX
SHEET # SHEET TITLE
lof 16 |COVER SHEET
20f 16 |GENERAL NOTES
3ofl6 |FLOOR PLAN AND FLOOR PANEL DETAILS
40t 16 |WALL PANEL DETAILS
50f 16 |ROOF PLAN AND ROOF PANEL DETAILS
6of 6 |ELEVATIONS
Tofl6 |DETAIS
Bof 16 |DETAILS
dof l6 |DETAILS
I0of 16 |DETAILS
llof 16 |DETAILS
| I20f 16 |DETAILS
| Bof 16 |DETAIS
: 14 of 16 |DETAILS
| I50f 16 | DETAILS
16 of 16 | FASTENER SPECIFICATIONS
NOTE:
THIS BUILDING 15 NOT DESIGNED FOR HABITATION AND DOES NOT
HAVE RUNNING WATER OR SANITATION SERVICES. THIS BUILDING 15
6 DESIGNED AS A UTILITY SHED TO STORE LAWN EQUIPMENT SUCH

AS WHEEL BARROWS, GARDENING SUPPLIES, FLOWER POTS, AND

DESIGN CRITERIA

AP ASU A QO T

12.

13.
4.
13.
6.
7.

NIND VELOCITY

WIND IMPORTANCE FACTOR
BUILDING CATEGORY

NIND EXPOSURE

INT. PRESSURE COEFFICIENT t0.18
ENCLOSURE CLASSIFICATION( ENCLOSED

BASED ON HEIGHT |5 FEET
OVERHANG YES
COMPONENTS AND CLADDING

- ROOF LOAD (ZONE #i) -8.| PoF
- ROOF LOAD (ZONE #2) -133 PoF
- ROOF LOAD (ZONE #3) -20.| PSF
- NALL LOAD (ZONE #4) -343 PSF
- WALL LOAD (ZONE #5) -l0.7 PSF

. FLOOR DESIEN LIVE LOAD 40 PSF
FLOOR DESIGN DEAD LOAD |5 PoF
ROOF DESIGN LIVE LOAD 20 PSP
ROOF DES|IGN DEAD LOAD |5 PSF
NALL DESIGN DEAD LOAD 1.3 POF
CONSTRUCTION TYPE vV B
BUILDING OCCUPANCY = U
FIRE RATING EXT, WALLS o)

ALLONABLE NUMBER OF FLOORS |

THE CONTRACTOR/MANUFACTURER MUST
COMPLY WITH THE FOLLOANING CODES:

- FLORIDA BUILDING CODE - 2007
- FLORIDA ACCESSIBILITY CODE - 2007
- FLORIDA EXISTING BUILDING CODE - 2007
- FLORIDA FUEL AND GAS CODE - 2007
- FLORIDA FIRE PREVENTION CODE - 2007
- NATIONAL ELECTRIC CODE - 2005
- NFPA |0l LIFE SAFTEY CODE - 2006

AREA FOR APPROVAL STAMPS

Approved as mm(l:llﬂng with the
Fll)ridi!

5/]8/200
NﬂM

Mm;re Pmdm letml

CARDBOARD BOXES WITH VARIOUS SMALL ITEMS, | |BWB|3/24/09
/N ||rev] Br | DATE DESCRIPTION
THESE PLANS WERE DESIGNED IN ACCORDANCE WITH THE 2007 FLORIDA BUILDING CODE FOR A THREE SECOND GUST OP{‘iO MPH. _)
ERED & CARDWEL L PE PLS Us. FENCE, INC. THIS DRAWING |5 NOT VALID DATE: | 11/25/08 SHEET
REVIEW FOR APPLICATION - HOMESTYLES 8' x 0" OUTDOOR STORAGE SHED UNLESS SIGNED IN PURPLE INK. DRAWNBY:|  KMVG
CEORGIAR 140t INIIANAS 20908 | 5100 SOUTH BELCHER ROAD LEBURe HEIoNTS on 4 aeceoor] || 528-004
BLDG-A / UNIT #l| LARGO, MIDDLEBURG HEIGHTS, OH 44i30 : -
m LAISIANS 20292 | FLoRIDA 33711 PH: (BI0) 235-0400 FAX: (BI0) 235-040I @Mw ceAE A NoTED
N. CAROLINA# 11108 | VOICE: 727-524-1905
TEXAS# 54100 FAX: 127-524-12d9 ( COVER SHEET / ‘2/ ~7-07 No.No: | 528-004 I OF 1o




AREA FOR APPROVAL STAMPS

GENERAL NOTES

THE CONTRACTOR / OWNER SHALL BE RESPONSIBLE FOR VERIFYING ALL EXISTING CONDITIONS,

. THE CONTRACTOR / OWNER SHALL BE RESPONSIBLE FOR COORDINATING ARCHITECTURAL AND STRUCTURAL DETAIL AND DIMENSIONS, ANY
DISCREPANCIES BETWEEN SUCH DETAILS AND DIMENSIONS SHALL BE REPORTED TO THE ENGINEER PRIOR TO PROCEEDING WITH THE WORK.

. THE CONTRACTOR / OWNER SHALL BE RESPONSIBLE FOR ERECTION PROCEDURE AND SEQUENCE TO INSURE THE INTEGRITY OF THE BUILDING
AND |TS COMPONENT PARTS DURING CONSTRUCTION.

. THESE PLANS HAVE BEEN PREPARED PER THE 2007 FLORIDA BUILDING CODE. THE WORK OF ALL CONTRACTORS / OWNERS SHALL COMPLY
WITH THE REQUIREMENTS SET FORTH iN THE AFOREMENTIONED CODE. NO DEVIATIONS FROM THE WORK SHOWN OR REASONABLY IMPLIED SHALL
BE UNDERTAKEN WITHOUT THE ENGINEER'S WRITTEN CONSENT - A COPY OF WHICH WILL BE FILLED WITH THE CONSTRUCTION OFFICIAL.

. ANY CHANGES TO OR DEVIATIONS FROM THESE DRAWINGS SHALL NOT BE MADE.

. THESE DRAWINGS ARE THE PROPERTY OF THE ENGINEER AND SHALL NOT BE USED WITHOUT HIS CONSENT. DRANWINGS SHALL NOT BE USED FOR
ISSUE OF BUILDING PERMIT UNLESS SIGNED AND SEALED BY THE ENGINEER.

7. THE OWNER AND THE CONTRACTOR SHALL HOLD HARMLESS THE ENGINEER FROM AND AGAINST ALL LIABILITY CLAIMS, DAMAGES, LOSSES AND
EXPENSES INCLUDING LEGAL FEES ARISING OUT OF OR RESULTING FROM ERRORS DUE TO PERFORMANCE OF THE WORK BY THE CONTRACTOR.
ALL WORK AND MATERIAL SHALL MEET THE REQUIREMENTS OF ALL LOCAL AND STATE BUILDING CODES AND THE SPECIFICATIONS OF THE
NATIONAL BOARD OF FIRE UNDERWRITERS. THE DRAWINGS SHOW THE GENERAL ARRANGEMENTS AND EXTENT OF THE WORK.

8. ALL WORK AND MATERIALS SHALL MEET THE REQUIREMENTS OF LOCAL AND STATE CODES AND THE SPECS OF THE NATIONAL BOARD OF FIRE
UNDERWRITERS, CONTRACTORS / OWNERS SHALL CHECK AND VERIFY ALL PLAN DIMENSIONS AND CONDITIONS BEFORE PROCEEDING
CONSTRUCTION. HE SHALL REPORT ANY DISCREPANCIES TO THE ENGINEER FOR CORRECTION PRIOR TO BEGINNING ANY WORK. THE DISCOVERY
OF DISCREPANCIES AFTER THE BEGINNING OF WORK WILL BE EVIDENCE OF FAULTY WORK AND SHALL BE THE RESPONSIBILITY OF THE
CONTRACTOR. DO NOT SCALE DRANINGS. ALL WRITTEN DIMENSIONS GOVERN,

9. THE CONTRACTOR / OWNER FOR THIS PROJECT SHALL INCLUDE ALL MATERIALS AND LABOR REQUIRED TO COMPLETE THE TOTAL PROJECT.
THE CONTRACTOR / OWNER SHALL FURNISH AND PAY FOR ALL MATERIALS, TOOLS, EQUIPMENT, LABOR, MACHINERY, TRANSPORTATION, HEAT,
WATER, UTILITIES, AND ALL OTHER FACILITIES AND SERVICES REGUIRED FOR THE SAFE AND PROPER EXECUTION AND COMPLETION OF THE
WORK. THE ENGINEER SHALL BE THE INTERPRETER OF THE CONTRACT DOCUMENTS,

|O. THE DOCUMENTS SHOW AN OVERVIEN OF THE WORK REQUIRED UNDER THIS CONTRACT AND RELATED REQUIREMENTS AND CONDITIONS THAT

WILL IMPACT THE PRO.JECT.

N W N T

DR

Appreved as complying with the

Florida Buld

Date

o0
NOA#O

Pmaut Centml
ﬂw!sm??d

C

fl. HAVE SOIL POISONING UNDER NEW WORK AND SHALL BE INSTALLED BY A LICENSED CONTRACTOR. ALL WORK SHALL BE COMPLETED IN

ACCORDANCE WITH ALL STATE AND DEPARTMENT OF AGRICULTURE, STRUCTURAL PEST CONTROL DIVISION REGULATIONS, RULES, DEFINITIONS
AND REQUIREMENTS. THE CONTRACTOR / ONNER SHALL BE RESPONSIBLE FOR VERIFYING AND MAINTAINING ALL EXISTING SETBACKS,

EASEMENTS, AND ANY DEED RESTRICTIONS.
|2. THE CONTRACTOR / OWNER SHALL BE RESPONSIBLE FOR FINAL CLEANUP AND SHALL INCLUDE THE SITE, AND THE BUILDING. THE ENTIRE

PROJECT SHALL BE LEFT IN A NEW, CLEAN CONDITION.

3. IN ADDITION TO THE ABOVE GENERAL NOTES, ALL NOTES AND WARNINGS INDICATED IN THE INSTALLATION MANUAL SHALL APPLY TO THE
CONSTRUCTION OF THIS PROJECT.

| | BB |[3-24-04
/N J[rev]| Br | DATE DESCRIPTION
THESE PLANS AERE DESIGNED IN ACCORDANCE WITH THE 2007 FLORIDA BUILDING CODE FOR A THREE SECOND GUST OF ﬁo MPH.>
FEED 6 c AEDWE ]_ ]_ = = = L 6 ug. EENCE. INC. THIS DRANWING 15 NOT VALID ][ DATE: 1/25/08 SHEET
. / ek - W - | | REVIEW FOR APPLICATION ~ HOMESTYLES &' x 10" OUTDOOR STORAGE SHED UNLESS SIGNED IN PURPLE INK. DRAMN BTl KMS
ALABAMA# (4469 FLORIDA# 15607 | 000 SOUTH BELCHER ROAD 1830 FREEWAY CIRCLE ' ‘
GEORGIA# 1424] INDIANA# %0555 BLDG-A / UNIT #ll LARGO, MIDDLEBURG HEIGHTS, OH 44130 M CHECKED BY: FsC 528- @@4
m LN Pons? | FLORIDA 3371 PH: (810) 235-0400 FAX: (8I0) 235-040I M}-&Q/ SCALE. NONE .
N. CAROLINA# |[l0® | VOICE: 727-524-1905
TESALE 54100 FAX: 727-524-12d9 ( GENERAL NOTES ] —9«3? Jno.No: [ 528-004 2 OF 16




TAB AT EDGE OF
PANEL (TYPICAL)

DADO ON UNDERSIDE
’ OF PANEL (TYPICAL)

DETAIL
( : e o

T (= (=
r_/ N, \
T
= c\
- MATE
| Pzl ©
N \
N ——] \I/v__ | —
N N ]
24" 225" L 237"
649"
FLOOR PANEL "¢"

N

NOTE:
l. ALL PANELING AND MATERIALS ARE

PRE-MANUFACTURED,

TAB AT EDGE OF

DADO ON UNDERSIDE

PANEL (TYPICAL) rOF PANEL (TYPICAL)
) % )

S~ 7 ‘\'\__J
MATE ]
LINES
.
i N
8]
N .
N |
N A
)TL t
AN
309", 2.25 | 24" ||
4" 649"
237"
FLOOR PANEL 'B"

<:> DETAL
SCALE: /2" = 1-O0"

FASTEN FLOOR PANELS 237"
TOGETHER W/ (30) 1/4" x 2"
COARSE THREAD SCREWS

PER MANUFACTURER'S
INSTALLATION INSTRUCTIONS —

WINDOW WALL PANEL
REFER TO DETAIL 4 SHEET

4 OF 16 (LOCATION "
OPTIONAL)

COMMON WALL PANEL

REFER TO DETAIL 3 SHEET A

4 OF 16

225"

TAB AT EDGE OF
PANEL (TYPICAL)

N

——DADO ON UNDERSIDE
OF PANEL (TYPICAL)

| e
|
P
|

]

124"

DETAlL
SCALE: 1/2" = 0"

225"

[14.75"

v
~237"
Tof 2

\
T
LT |
g L 3
| LA 0
[ e
. T k304"
T J 4u
124" 2.25" §
649"
237"
FLOOR PANEL "A"

4I|

/?.oq "

REFER TO DETAIL |
SHEET T OF 16

it (TYPICAL)

9e3"

FLOOR PANEL "C" REFER
TO DETAIL 4 SHEET 3 OF 16

(TYPICAL OF 2) ——/

FLOOR PANEL "B" REFER
TO DETAIL 3 SHEET 3 OF 16

(TYPICAL OF 2)

FRONT WALL PANEL "L"
REFER TO DETAIL 2 SHEET

4 OF 16

i STSTLILS S0V TLIII SIS, VITLTLS YIS ML, S, A1 I TPV Aiovs Y

' REFER TO DETAIL |
’ SHEET & OF 16 AND
_ DETAIL | SHEET |4

OF 16 (TYPICAL)

3.09"

L

JI

FRONT WALL PANEL "R"

REFER TO DETAIL |

SHEET

FOOR PLAN

\—FLOOR PANEL "A" REFER
TO DETAIL 2 SHEET 3 OF
(TYPICAL OF 2)

6' DOUBLE DOOR REFER
TO MANUFACTURER'S
SPECIFICATIONS AND

DETAIL | SHEETS 10 OF 16

2

AREA FOR APPROVAL STAMPS

Agproved as somplylag with the
Floridn Buiding Code

Miami Dad

Division

e Produes Controd
L:JZ&/KQM"._

=

[

4 OF 16 l SCALE: 14" = 10" AND || OF 16 | |BnB|[3-24-09
/N JIrRev] Br | DATE DESCRIPTION
THESE PLANS WNERE DESIGNED IN ACCORDANCE WNITH THE 2007 FLORIDA BUILDING CODE FOR A THREE SECOND GUST OF (qo MPH. )
FEED % c AEDWE ]— ]— p E p ]— % US. FENCE, INC. THIS DRANWING 1S NOT VALID DATE: 11/25/08 SHEET
- / -, - - W -1 | REVIEW FOR APPLICATION - HOMESTYLES &' x 10' OUTDOOR STORAGE SHED UNLESS SIGNED IN PURPLE INK. DRAWN BTl KMo
ALABAMA# |4469 FLORIDA¥ 15607 | I000 SOUTH BELCHER ROAD 1830 FREEWAY CIRCLE i
GEORGIA# 1424 INDIANA# 20338 | Bl De-A / UNIT #II LARGO, MIDDLEBURG HEIGHTS, OH 44130 CHECKED BY:|  FSC 528- @@4
: lﬁcl)gfl)%grl\ggﬁ#2g§§5b FLORIDA 3377 PH: (810) 235-0400 FAX: (810) 235-040I Peotrrdlf SCALE: NONE
N, # VOICE: 727-524-1905 ’
A TEXASY BH100 0 | FAX: 1215241244 (CFLOOR PLAN AND FLOOR PaNEL DETAILS )| ¢ +-9-07 HoNO. |528004 || 3 OF 6




CONNECTION

NOTE:

l. WALL PANELS ARE CONNECTED USING 3/8" X 3/4" HEX BOLT, 3/8"
FLAT WASHER, AND 3/6" T-NUT. CONNECT WALL PANELS IN (3) PLACES
ON THE VERTICAL, EACH SIDE OF PANEL. REFER TO MANUFACTURER'S

20.64"

AN

L 2245" | L 2245 , .
| J V" 7/ 7 4| [XXCIAXAXIRANAXK KK
2295 L2 o5 L2
22:45 2295 /—COMMON WALL  PLAN VIEW PLAN VIEN PLAN VIEN PLAN VIEW
PANEL
~ ; 2245" 2245" 20 84" 20.84"
i |
|
| |
| REFER TO
I | A DETAILL | SHEET
9 OF 16 FOR
2 /E . % MORE DETAILED
' 22495/ R INFORMATION
A
| o) D D D
I S 9 S S
! ! i = iy -
| | L Lo L Lo
|
| |
| |
| |
: /
| / /
/ TRIBUTARY AREA FOR
WALL FASTENERS jt = = = - " = - ! - - :&
17" |7 |7" 17"
NALL PANEL
SPLICE CONNECTION WINDON WALL PANEL COMMON NALL PANEL NALL PANEL "L NALL PANEL "R"
DETAIL DETAIL 5 DETAIL DETAIL DETAIL
SCALE: |/2" = [0 SCALE: I/2" = 0" SCALE: I/2" = I-O" SCALE: /2" = 0" SCALE: I/2" = I-0"

NOTE:
l. ALL PANELING AND MATERIALS ARE
PRE-MANUFACTURED.

AREA FOR APPROVAL STAMPS

Approved gs complying with the
Florida Buiding Cod
Date_ O 2 =

NOA¥ 08 = 1 Te) 22 O L

Migmi Dagde Product Control
Divisi
By, >

INSTALLATION INSTRUCTIONS FOR FURTHER DETAIL.
| |BHNB|3-24-049
/N ]Irev| By | DATE DESCRIPTION
THESE PLANS WERE DESIGNED IN ACCORDANCE WITH THE 2007 FLORIDA BUILDING CODE FOR A THREE SECOND GUST OFQO MPH. )
ERED e cC AEDWE LL PE & L e ug. EENCE, INC. [ THIS DRANWING 19 NOT VALID DATE: 11/25/08 SHEET
. / sl - ¥ - -1 | REVIEN FOR APPLICATION - HOMESTYLES &' x 10" OUTDOOR STORAGE SHED UNLESS SIGNED IN PURPLE INK. DRAMN BY:| KMo
ALABAMA# 4464 FLORIDA# 15607 | I000 SOUTH BELCHER ROAD 1830 FREEWAY CIRCLE '
GEORGIA# 1424 INDIANA# %OBB& BLDG-A / UNIT #| LARGO, MIDDLEBURG HEIGHTS, OH 44130 M CHECKED BY: FaC 528-@@4
m HESeppif 8352 | FLORIDA 3371 PH: (B10) 235-0400 FAX: (810) 235-040)! elevedl SCALE: NONE
N. CAROLINA# o0& | VOICE: 727-524-1905
TEXASH 54100 FAX: 727-524-1299 [ WALL PANEL DETAILS H-F0F WO.NO: | 528-004 4 OF lb




< AREA FOR APPROVAL 8TAMPS
MATE-LINES MATE-LINE o MATE-LINE—\
- ]
o ﬂ - -
B a ] = ] EN—
—_— —_— — *_‘___’L_._ — fr— - o | B
- ‘ 1 8
13.68" T 7 -
iy ST k!
(TYP) i 13.68"
DETAL DETAL DETAL
4 JacAE /2" = -0" 3 "SCALE: /2" = 10" 2 FeeaE /2" = -0"
¢ 10162 » FASTEN ROOF PANELS
‘ | 17" ToeETHER W (32) 14" x
HOMESTYLES PUSH TRUSS — —k  3/4" TRUSS HEAD SCREWS
e — COMPONENTS, ATTACHED WITH t PER MANUFACTURER'S
155" [2.25"  (24) I/4" x |-I/4" TRUSS HEAD L INSTALLATION INSTRUCTIONS Approved as complying with the
SCREWS TO ROOF PANELS o\l a © o
REFER TO DETAIL | SHEET 12 OF ® ! © | Date_05/135
[6 AND TO MANUFACTURER'S T i m noon Miemi Dade Product Colirol
. SPECIFICATIONS AND el I A Divisio
510 INSTALLATION INSTRUC TIONS ——— T (R T T ) By '
0z i | i o
—d L L R
TRUSS BEAM REFER TODETAIL T 7 & | [T TF T T ] 8
SHEETS 12 OF 16 AND 13 OF 16 H ” : ” ”f ! I
| |
T ROOF PANEL "B" REFER TO (B) X
A SCALE: 1/2" = 10 DETAIL THIS SHEET -—©® | VE
| |
it A
N NOTE. ROOF PANEL "C" REFER TO
l. ALL PANELING AND MATERIALS ARE DETAIL THIS SHEET
PRE-MANUFACTURED.
ROOF PANEL "A" REFER TO
DETAIL THIS SHEET
| A E oo | |BnB|3-24-09
/\ Jrev] Br | DATE DESCRIPTION
THESE PLANS NERE DESIGNED IN ACCORDANCE NITH THE 2007 FLORIDA BUILDING CODE FOR A THREE SECOND GUST OF @O MPH)
( uS. EENCE, INC. THIS DRANING IS NOT VALID ) [DATE: 11/25/08 SHEET
FEED % CAEDwELL/ PE/ PL% REVIEW FOR APPLICATION - HOMESTYLES 8' x 10' OUTDOOR STORAGE SHED UNLESS SIGNED IN PURPLE INK. DRANN BT:| KNG
ALABAMA# 14469 FLORIDA* 15607 | 1000 SOUTH BELCHER ROAD 1830 FREEWAY CIRCLE '
GEORGIA#* 1424] INDIANA# 20338 BLDG-A / UNIT #Il LARGO, MIDDLEBURG HEIGHTS, OH 44130 CHECKED BY: FsC 528- ¢¢4
EE VSOl Baog, | FLORIDA 3371 P (810) 255:0400 FAX: (B10) 235-0401 SCALE: NONE
N. CAROLINA% |llo8 | YOICE: 127-524-1905 :
L TEXAGE 54100 0 | b Go1 o o (__ROCF PLAN AND ROOF PANEL DETAILS )| ¢  +/—F-—o7 WO.NO: | 528-004 5 OF 16




ROOF PANEL "B" REFER TO
DETAIL 3 SHEET 5 OF 16

ROOF PANEL "C" REFER TO

DETAIL 4 SHEET 5 OF 16 —\
ROOF PANEL "A" REFER TO

NOTE:
l. ALL PANELING AND MATERIALS ARE PRE-MANUFACTURED.

01.62" 101.62"
DETAIL 2 SHEET 5 OF 16 Ny \ \
JL N 17 WINDOW WALL PANEL
C B LOCATION OPTIONAL
i REFER TO
VARIFORM "CONCTRACTOR'S i MANUFACTURER'S
CHOICE" D4 VINYL SIDING INSTALLATION [
REFER TO MANUFACTURER'S - INSTRUCTIONS ——_ | ‘ -
INSTALLATION INSTRUCTIONS S | | S
(TYPICAL FOR ALL SIDES OF N = | N
SHED) REFER TO DETALL | N | | N
SHEET 15 OF Ié\ N | ‘ kN
—
433" 918" 433" \2:22 433" q.8" 33" \223"
047" 104T"
SIDE SIDE W NINDON WALL PANEL
E=EYATION

< > ELEVATION
GABLE AND GABLE VENT REFER SCALE: 1/4" = I'-0"

TO MANUFACTURER'S
INSTALLATION INSTRUCTIONS

ROOFING PANELS REFER TO
DETAILS SHEET 5 OF 16

YARIFORM "CONCTRACTOR'S

/
A

~——FASTEN ROOF

FOR GABLE REFER
TO DETAIL | SHEET
I3 OF 16

PANELS THRU WALL
CAP AND INTO

2 FeehE VF =10

WALLS W (32) 1/4"

x 3/4" TRUSS HEAD

AREA FOR APPROVAL STAMPS

Appreved as complying with the
Florida Buidipg Cod

Date_© s /200
NQA# ©

Miami Dade Produst Control

g;vision _(/A; '4 MV

g SCRENS PER

CHOICE" D4 VINYL SIDING ] , ]

REFER TO MANUFACTURER'S = m  MANFAGTURERS 0

INSTALLATION INSTRUCTIONS _ |8 m‘f’%b'c-p‘f'@ ) = |8

(TYPICAL FOR ALL SIDES OF B BN L PJ b

SHED) REFER TO DETAIL | © SEET 14 on 1t 194" 12" [19.94" e

SHEET 15 OF 16

462" 14.75" \2.25" 462" 14.75" \2.25"
124" 462" 124" 462"
REAR FRONT
2\ ELEVATION ELEVATION i —
SCALE: I/4" = [-O" SCALE. I/4" = [-O" A
REV| BY | DATE DESCRIPTION
THESE PLANS WERE DESIGNED IN ACCORDANCE WITH THE 2007 FLORIDA BUILDING CODE FOR A THREE SECOND GUST OF @ MF”H.}
ERED & CARDWELL PE PLS Us. FENCE, INC. THIS DRANING 15 NOT VALID DATE: 11/25/08 SHEET
- / - -wm W -1 | REVIEN FOR APPLICATION - HOMESTYLES &' x 10 OUTDOOR STORAGE SHED UNLESS SIGNED IN PURPLE INK. DRANN BY:|  KMS
ALABAMA® 14464 FLORIDA¥ 15607 | 1000 SOUTH BELCHER ROAD 1830 FREEWAY CIRCLE :
GEORGIA# 4241 INDIANA# 20338 | B D-A / UNIT #11 LARGO, MIDDLEBURG HEIGHTS, OH 44I30 M CHECKED BY:| FSC 528-@@4
EEE MaSeboi 5a5e | FLORIDA 33711 PH: (810) 255-0400 FAX: (8I0) 235040 asotne SCALE: NONE
N. CAROLINA¥ |i|o8 | YOICE: 727-524-1905
TEXAS# 54100 FAX: 727-524-12d9 ( ELEVATIONS ) / A-G-69 WO.NO: | 528-004 | 6 OF 16




1/4" X 1-1/4"
Coarse Thread
Turss Head

/——

1/4" Washer

1/4" X 2.00"
Truss Head

A

)

Wall

\—Concrete

Shrinkage and temperature reinforcement shall consist of 60 k.s.i. #3 rebar placed at
15" 0.C. with a minimum concrete cover of 3".

N

|
NN NIRRT
N N

AAAIAAIIHY,

iz

Lz

AN,

el

3/8“ X 7"

Hilti Kwik Bolt 3 Embeded 3-1/2" Min.
in 4" thick 3000 psi conc. slab at each

wall panel location

AREA FOR APPROVAL STAMPS

Approved s complying with the
Florida Buiging Cod

Date_O 3/ lco0
NOA# © -

T
Mipmi Dade Product Controd
Divist
By :

HOMESTYLES
cETAL
|
SCALE: NTS. A | [BnB|3-24-04
. REV| BY | DATE DESCRIPTION
( THESE PLANS WERE DESIGNED IN ACCORDANCE WITH THE 2007 FLORIDA BUILDING CODE FOR A THREE SECOND GUST GF 90 MPH.) |
ERED . CARDWELL PE PLS Us. FENCE, INC. THIS DRAWING S NOT VALID -foATE: 11/25/08 SHEET
- / ket - - W7 -1 | REVIEN FOR APPLICATION - HOMESTYLES &' x 10' OUTDOOR STORAGE SHED UNLESS SIGNED IN PURPLE INK. DRAMN BT:| kM5
ALABAMA# 14464  FLORIDA* 5607 | 1000 SOUTH BELCHER ROAD 1630 FREENAY CIRCLE ‘
GEORGIA# 14241 INDIANA# 20338 | B| De-A / UNIT #1I LARGO, MIDDLEBURG HEIGHTS, OH 44130 CHECKED BY:)|  FecC 528.@@4
m LN P29 | FLORIDA 33711 PH: (8I0) 235-0400 FAX: (BI0) 235-040) CALE. =
- N. CAROLINA# 11108 | VOICE: 127-524-1905 Z = :
TEXASH 54100 | FAX: 1271-524-12d9 DETAILS ) 4#-7-07 WO.NO: | 528-004 T OF 16




Wall Corner Support

AREA

FOR APPROVAL STAMPS

©
1/4" =20 Nut
BN
1/4" Washer vod iying with the
e " Approvd s sompli vl
° Date_O 3/ teo
NOA# 0 8- 1 C] L-01
C H Mismi Dade Product Cantrol
j 1 piviion
By
T 3/8" 3/8"  3/8" X 3/4"
. . T—Nut Flat Washer Hex Nut
1/4" X 2.00" 2 .
Wall Stud Assembly ./ x —Floor Base
=
k.\ ‘__:—’i
/ \
Floor Base
HOMESTYLES
DETAL
I
SCALE: NTS. | |BAB|3-24-09
& REV | BY | DATE DESCRIPTION
THESE PLANS WERE DESIGNED IN ACCORDANCE WITH THE 2007 FLORIDA BUILDING CODE FOR A THREE SECOND 6U§1’ OF 40 MPH. )
ERED S cC AEDWE LL PE P L =) us. BENCE, INC. THIS DRANWING |5 NOT VALID : 11/25/08 SHEET
: / il -Hmm - W -1 | REVIEW FOR APPLICATION ~ HOMESTYLES &' x [0' OUTDOOR STORAGE SHED UNLESS SIGNED IN PURPLE INK. DRAMN BT:|  KMS
TR cwon] = |1628-004
BLDG-A / UNIT #I| LARGO, MIDDLEBURG HEIGHTS, OH 4430 : -
N. CAROLINA# [l|08 | YOICE: 727-524~1905 Z —
TEXASH 54100 FAX: 727-524-1244 ( DETAILS £ ~3-0F WO.NO: | 528-004 & OF 16




AREA FOR APPROVAL STAMPS

A
o 1 I  — i ~=T7 I 4 A
I I |'; e e &
— : I 0
B—— f #0 X .500 Truss Head 8 -
Screw locations . L
! ) /" #0 X 500"
| {lm Truss Head
"- i .: \ T \(‘/
Iy ;J \ /
i ° ~ 11
i >
1 @
. ’/' —
! L~
1 /‘/
Il |- N
& W~ ‘\‘
I — N App:mvsdascompiyiagmﬁ'
I gfféd?m ; g 200
' oAl_O 2
Sy \| ?ﬁami Dade Produet Control
- i Division
I || By
: — Nylon Fastener
| —
L -
] SECTION A-A
HOMESTYLES
DETAL
SCALE: NTS. | |BAB|3-24-049
V| BY | DATE DESCRIPTION
AN
THESE PLANS WERE DESIGNED IN ACCORDANCE WITH THE 2007 FLORIDA BUILDING CODE FOR A THREE SECOND GUST OF(qO MPH, ) :
ERED & CARDUWELL PE. = LS Ue. FENCE, INC. THIS DRAWING IS NOT VALID DATE: 11/25/08 SHEET
: ! el -4 - W7 -1 | REVIEA FOR APPLICATION - HOMESTYLES &' x 10" OUTDOOR STORAGE SHED UNLESS SIGNED IN PURPLE INK. DRANN BY:l K5
Qléégémﬂ ‘Iéjﬁq %5)]%5@# 5607 | 1000 SOUTH BELCHER ROAD 1830 FREEWAY CIRCLE ' 52 8 @@ 4
BLD&G-A / UNIT #| LARGO, MIDDLEBURG HEIGHTS, OH 44130 CHECKED BY: FoC -
m LIS 29298 | FLORIDA 33771 PH: (810) 235-0400 FAX: (810) 235-040 M%@lﬂ e O
N, CAROLINA# [[l08 | VOICE: 1271-524-1905 :
TEXAS# 54100 FAX: 727-524-1299 [ DETAILS 4 ‘7‘—~7—-O'7" WO.No: | 528-004 a OF 16




Hinge Pin
3/8" ID X 5/8" OD

Nylon Washer 1/8" ThicK

|

Bronze bushing

1/4" X 3/4
Pan Head

;Door Frame

#0 X 1.00"
Countersunk

]

\
!:?\\-‘
\

|

’

1/4" X 1-1/4"
Truss Head

AREA FOR APPROVAL 8TAMPS

Approved 2 complylag with the

Florida Buid

Date__ O

NOA# O
Miamili?)'?de Produect Con

VA;)AMV

Bivisio
By

Codj
200

.07
trol

HOMESTYLES
OETAL -
I
SCALE: NT5 | |BrB[3-24-04
/N |(Rev] Br | DATE DESCRIPTION
THESE PLANS WERE DESIGNED IN ACCORDANCE WITH THE 2007 FLORIDA BUILDING CODE FOR A THREE SECOND GUST OF( 40 MPH. >
ERED & CARDWELL PE B LS us. FENCE. INC. THIS DRAWING IS NOT VALID DATE: 11/25/08 SHEET
: ’ - - -7 - | | REVIEW FOR APPLICATION - HOMESTYLES &' x 10' OUTDOOR STORAGE SHED UNLESS SIGNED IN PURPLE INK. DRANN BY:|  KMG
ALABAMA# 14464 FLORIDA#* 15607 | 1000 SOUTH BELCHER ROAD 1830 FREENAY CIRCLE :
GEORGIA# |424] INDIANA# %0335 BLDG-A / UNIT #I| LARGO, MIDDLEBURG HEIGHTS, OH 44I30 CHECKED BY:|  FSC 528-@@4
m LRI 29252 | FLORIDA 3377 PH: (810) 235-0400 FAX: (BI0) 235-040I - SCALE. NONE
N. CAROLINA# [llo8 | YOICE: 727-524-1905
TEXAS# 54100 FAX: 727-524-1249 DETAILS ] ’ _ %—9—07 WO.NO: | 528-004 IO OF 16




#0 -1/2"
Self Tapping Pan Head

<w()

#0 -1/2"
Self Tapping Pan Head

Latch Plate —
Florida

1/4" X 2.00"
Truss Head

#10 -1/2"
Self Tapping Pan Head

#0 -1"
Countersunk

AREA FOR APPROVAL STAMPS

Approved zs complying with the
Florids Buiding Cod

Date O 3/ 220
NOAR O :

Miami Dade Pradost Ton
Hivisi
By :

HOMESTYLES DOOR
DETALL
| —
5CALE: N.T.s. I BNB 5_24_Oq
/N Nrev| By | DATE DESCRIPTION
THESE PLANS WERE DESIGNED IN ACCORDANCE WITH THE 2007 FLORIDA BUILDING CODE FOR A THREE SECOND GUST OF @O MF"H)
ERED & C ARDWELL PE PLS us. FENCE, INC. THIS DRANING 15 NOT VALID DATE: 11/25/08 SHEET
: / c-- - - 27 -1 | REVIEW FOR APPLICATION - HOMESTYLES &' x 10" OUTDOOR STORAGE SHED UNLESS SIGNED IN PURPLE INK, DRANN BT:|  KMS
gééggm#l L‘é‘fﬁq mgi{&ﬁﬁ 2'8_9,% 000 SOUTH BELCHER ROAD 1630 FREEWAY CIRCLE CHECKED BY' Foc 52 8 @@ 4
BLDG-A / UNIT #li LARGO, MIDDLEBURG HEIGHTS, OH 44130 ; -
TEXASH 54100 FAX: 727-524-12d9 ( DETAILS ) it a4 WO.NO: | 528-004 Il OF 16




5/16" X 12-3/4"
Bolts

L

Truss Beam

"A" Small Truss

AREA FOR APPROVAL STAMPS

Appraved s complying with tke
Flerida Balding Coge

Date_O oo
NOA#

Miami Dude Predact Control
Divisi
By :

Truss to Roof Truss to Roof
1/4" X 1-1/4" 1/4" X 1-1/4"
Truss Head Truss Head
Acorn Nuts
HOMESTYLES PUSH TRUSS
;"bNDE EII.DAE?”E- BEAM TO ROOF
SCALE: NTS., | | BWB|3-24-09
A REV| BY | DATE DESCRIPTION
THESE PLANS WNERE DESIGNED IN ACCORDANCE WITH THE 2007 FLORIDA BUILDING CODE FOR A THREE SECOND GUST OF @O MP*-Q
FEED % cC AQDLUE ]_ ]_ =) E =) ]_ % us. FENCE, INC. THIS DRAWING 1S NOT VALID DATE: 11/25/08 SHEET
. / -- (B - -] | REVIEN FOR APPLICATION - HOMESTYLES &' x 10* OUTDOOR STORAGE SHED UNLESS SIGNED IN PURPLE INK. DRAWNBY:| kMG
ALABAMA# 4469 FLORIDA# 15607 | 1000 SOUTH BELCHER ROAD 1830 FREENAY CIRCLE -
GEORGIA# 1424] INDIANA# 20338 | B| pe-A 7 UNIT #I1 LARGO, MIDDLEBURG HEIGHTS, OH 44130 CHECKED Br:| FsC 528-@@4
m h?gé%g’l“@ﬁfggﬁg FLORIDA 3371l PH: (BI0) 235-0400 FAX: (B10) 235-040I SCALE. NONE
N. CAROLINA# |l|08 | VOICE: 127-524~1905 -
TEXAS# 54100 FAX: T27-524-1299 ( DETAILS / A -F-aF WO. NO: | 526-004 12 OF 16




5/16" X 3/4"

#0 X 1.00"

Pan Head Phillips ['

Truss Beam

AREA FOR APPROVAL STAMPS

Appraved as coraplying with the
Flarids Bud Code
Date_© 200

NQaA# O z

Miami Dade Prodict Control
Bi
By A

1/4" X 3/4
Truss Head
3/8" 3/8" 3/8" X 3/4"
T-Nut Flat Washer Hex Nut
HOMESTYLES
GDABEL% ZNTEO RIDG6E BEAM
I
SCALE: N.T.5. | |BNB|3-24-09
/N rev]Br | DATE DESCRIPTION
THESE PLANS AERE DESIGNED IN ACCORDANCE WITH THE 2007 FLORIDA BUILDING CODE FOR A THREE SECOND GUST OF @O MF’H)
%EED % cC AEDLUE ]_ ]_ = = 2 ]_ % us. EENCE, INC. THIS DRAWING 1S NOT VALID DATE: 11/25/08 SHEET
- / -, -#m - W -1 | REVIEW FOR APPLICATION - HOMESTYLES &' x 10' OUTDOOR STORAGE SHED UNLESS SIGNED IN PURPLE INK. DRAMN BT:]  KM5
ALABAMA# 14469 FLORIDA# 15607 | 1000 SOUTH BELCHER ROAD 1830 FREEWAY CIRCLE :
GEORGIA# 1424 INDIANA# 203386 | B) pe-A / UNIT #11 LARGO, MIDDLEBURG HEIGHTS, OH 44130 CHECKED BY:|  FSC 528-@@4
m AN 20292 | FLORIDA 33771 PH. (810) 235-0400 FAX: (8I0) 235-040 S ALE ONE
N. CAROLINA# 11108 | VOICE: 727-524-1905
TEXAS# 54100 FAX: 727-524-1299 ( DETAILS ) L A-Fof WO.NO: | 528-004 I3 OF 16




[

1/4" X 3/4"
Truss Head

B

1/4" =20 Nut

1/4"-20 X 1.00"

1/4" Washer Hex Bolt

3/8" 3/8" 3/8" X 3/4"
T-Nut Flat Washer Hex Nut

AREA FOR APPROVAL STAMPS

Appravad 2n complying with the

NOAY OB - 2]L.0
ade Product Contrel

PAiami D

g;vlsio ﬁy 4 54 :

HOMESTYLES
BETAL
|
SCALE: NT.5 | |BrB|3-24-04
A REV| BY | DATE DESCRIPTION
THESE PLANS WERE DESIEGNED IN ACCORDANCE WITH THE 2007 FLORIDA BUILDING CODE FOR A THREE SECOND GUST OF @O MP@
FEED % c AEDWE L = = 2L e ug. EENCE, INC. THIS DRANWING 1S NOT VALID DATE: 1/25/08 SHEET
- / el -\ -1 | REVIEN FOR APPLICATION - HOMESTYLES &' x (0" OUTDOOR STORAGE SHED UNLESS SIGNED IN PURPLE INK, DRAMNN BY:]  KMS
ALABAMA# |44649 FLORIDA# 15607 | 1000 SOUTH BELCHER ROAD 1830 FREEWAY CIRCLE :
GEORGIA¥ 1424] INDIANA 20338 | B DA / UNIT #1i LARGO MIDDLEBURG HEIGHTS, OH 44130 l3¢ / CHECKED BY:|  FoC 528.@@4
LOUISIANA# 20548 ’ ) "~ i g W/
m MicolealPPl# 8d25 | FLORIDA 3371l PH: (610) 235-0400 FAX: (610) 235-040I SCALE: NONE
_ # |lioe | VOICE: 127-524-1905
#E%fg#o‘é%o FAX: 727-524-12949 DETAILS / <. -7-67 WO.NO: | 528-004 14 OF 6




L]

Nylon Fastener

L]

Nylon Fastener

Approximately
12"-16"

Corner Trim

every

Nylon Fastener

Floor Base

AREA FOR APPROVAL STAMPS

Approved as complying with the
Fiorida Buidigg C

Date_ O
NOA# O

2 /100

Miami Dgde Product Controd

DBivisio
By .

— |
Starter Row
Attaches to
Guides at Base
HOMESTYLES
géI%TEING TO NALL
|
SCALE: NTS. | BB |3-24-04
& REV| BY | DATE DESCRIPTION
THESE PLANS WERE DESIGNED IN ACCORDANCE WITH THE 2007 FLORIDA BUILDING CODE FOR A THREE SECOND GUST OF @O MPH)
=RED e ARDWELL P = 2L =) Ug. EENCE, INC. THIS DRANING 15 NOT VALID DATE: 11/25/08 SHEET
d / il - - W -] | REVIEW FOR APPLICATION - HOMESTYLES 8' x 10 OUTDOOR STORAGE SHED UNLESS SIGNED IN PURPLE INK, DRANN BY:l K5
ALABAMA# 4469 FLORIDA¥ 15607 | 1000 SOUTH BELCHER ROAD 1830 FREENAY CIRCLE :
GEORGIA# 424 INDIANA® 20338 | B De-p, / UNIT #11 LARGO, MIDDLEBURG HEIGHTS, OH 44130 CHECKED BY:|  FSC 528.@@4
m AN 29298 | FLoRIDA 33771 PH: (810) 235-0400 FAX: (BI0) 235-040) SCALE. ONE
N. CAROLINA# [[|08 | VOICE: 727-524-1905
TEXAS# 54100 FAX: 127-524-1299 DETAILS ) a ‘/ ~7-07 WO.No: | 528-004 15 OF 16




STATUS: Design Phase

Weight: 0.02 (lbs.)

~——#14x2" truss head phillip type "A” thread with JS500 plating (32)

#4x1 1/4" truss phil, tapping sc, 1018 steel, case hard, Clear zinc, .0002
thick (

1/2-20 hex jom nut, 1008 steel, clear zinc .0002 thick (2)
B/_'1/4 20x2 hanger bolt, 1008 steel, clear zinc .0002 thick (2)

[Um»/—#14x3/4 pan, phil. Tapping sc, 1018 steel, case hard, Clear zinc, .0002 thick
24) ,

3/8-16x3/4" hex hd cap sc, 1008 steel, clear zinc, .0002 thick (58)

3/8-16 prop. nut, mild steel, clear zinc .0002 thick (58)

3/8" USS flatwasher, mild steel, clear zinc .0002 thick (28)

1/4x1 1/4 fender washer, clear zinc .0002 thick, mild steel (28)

W#mﬂ flat phil, tapping sc, 1018 steel thru hard, clear zinc (12)

xmt120230 Grey Christmas Tree, 6/6 nylon (375)

/—5/16—18x12 3/4” hex bolt, 1008 steel, zinc plated

5/16-18 acorn nut, 1008 steel, nickel plated, 0.0003 thick (6)

mp16fe375125 6/6 nylon flatwasher (4)

ff.520.5 bearing, sintered bronze (2)

?"V’

#4x3/4" pon ph|| Tapping sc, 1018 steel, case hard, Clear zinc,
/_ 0002 thick (

#10x1 fiat phil, tek screw, 1022 steel thru hard, clear zinc .0002
thick (32)

#0x3/4" pan phil tapping sc, 1018 case hard steel, clear zinc
.0002 thick (4)

#10x1/2" pan phil, tek screw, 1022 steel thru hard, clear zinc
.0002 thick (19)

@/—5/16—18 hex jam nut, 1008 steel, zinc plated (2)
5/16 washer, mild steel, clear znc .0002 thick (2)

~——5/16-18x3/4" hex bolt, 1008 steel, zinc plated (2)

??

 PRRAVRRY

%#14x3/4" truss phil tapping sc, 1018 steel case hard, Clear sinc .0002 thick
32)
([hnm/- HOMESTYLES

AREA FOR APPROVAL STAMPS

Approved as complylng with the

Fiorida Buldj

Date_O
NQA#_O

Cogle
200

08 =%l 2.2
Miami Dage Product Cantrol
Division
By -

| FASTENERS
SCALE: NTS. | |BAB|3-24-04
/N rev]Br | DATE DESCRIPTION
THESE PLANS WERE DESIGNED IN ACCORDANCE WITH THE 2007 FLORIDA BUILDING CODE FOR A THREE SECOND GUST OF @O MPH)
ERED & ARDWEL L PE L S ug. FENCE INC. THIS DRANING 15 NOT VALID DATE: 1/25/08 SHEET
. / - 8 - W -1 | REVIEW FOR APPLICATION - HOMESTYLES &' x 10" OUTDOOR STORAGE SHED UNLESS SIGNED IN PURPLE INK. DRAWN BY:| kM5
ALABAMA# |4464 FLORIDA¥ 15607 | 1000 SOUTH BELCHER ROAD 1830 FREENAY CIRCLE '
GEORGIA# [424] INDIANA® 20338 | B po-A / UNIT #I| LARGO, MIDDLEBURG HEIGHTS, OH 44130 M CHECKED BY:| FSC 528-@@4
m h?géfl’ég’,“;‘;lfgggg FLORIDA 3377| PH: (B10) 235-0400 FAX: (B10) 235-040! I ey SCALE. NONE
# VOICE: 727-524-1905 '
TESAST 5400 2 | Baoke Tot o 1oda ( FASTENER SPECIFICATIONS 4 “-gay WO.NO: | 526-004 6 OF 16




